Participant ID number:


Manual Scoring Instructions for QOL-B Version 3.1
Step 1: Item-by-item responses

The values assigned to participants’ responses for each question are listed below.  Enter them on the Item-by-Item Worksheet.

· For questions 1 – 4: A lot of difficulty = 1, Moderate difficulty = 2, A little difficulty = 3, 
No difficulty = 4

· For questions 5 – 11: Always = 1, Often = 2, Sometimes = 3, Never = 4

· For questions 12 – 15: Use the assigned number designated for each specific response

· For questions 16 – 26: Completely true = 1, Mostly true = 2, A little true = 3, Not at all true = 4

· For question 27: Use the assigned number designated for each specific response

· For question 28: Always = 1, Often = 2, Sometimes = 3, Never = 4

· For questions 29 – 31: A lot = 1, A moderate amount = 2, A little = 3, Not at all = 4

· For question 32: Clear = 1, Clear to yellow = 2, Yellowish-green = 3, Brownish‑dark = 4, Green with traces of blood = 4, Don’t know = 6

· For questions 33 – 37: Always = 1, Often = 2, Sometimes = 3, Never = 4

Step 2: Scoring multiple responses or skipped questions
If two responses are marked and there is no opportunity to ask the respondent which one is correct, the worst response should be selected for data entry and scoring.  This provides a conservative estimate of their response to this item.  For example, item #29 asks: “Have you felt congestion in your chest?”  The response choices range from “A lot” to “Not at all.”  If the respondent marks “a lot” and “a moderate amount” you should enter “a lot” for this question.
Please note that some items are reverse-keyed and therefore, the worst response is not necessarily the lower number.

If participants skip a question, do not assign a response value (i.e. leave it blank).

Step 3: Scaling item 32 and reverse coding
Item 32 (resp32) has 5 possible answers that are scored and all other items on the QOL-B questionnaire have only 4 possible answers.  Possible scores for resp32 are 1, 2, 3, 4, 5 (scored as 4) and 6 (not scored), whereas for other questions the possible scores are 1, 2, 3, and 4.  Resp32 and eight other items are also reverse coded; because of the wording for these particular items, reverse coding is necessary to make higher scores correspond to better health outcomes.  Reverse coding is conducted for resp32, and for health5, vital8, treat12, treat14, health15, role20, health24, and role27.  These items are marked with an asterisk on the Item‑by‑Item Worksheet and the reverse-coded values are shown in the box on the worksheet.

For item 32: 


Original value = Reverse-coded value


1 = 4

2 = 3

3 = 2

4 = 1
6 = Not scored

For item 19:


“doesn’t apply” = Not scored

For items 5, 8, 12, 14, 15, 20, 24, 27: 
Original value = Reverse-coded value

1 = 4

2 = 3

3 = 2
4 = 1

Step 4: Preparing to calculate scaled scores and missing values
Transfer the values from the Item-by-Item Worksheet to the Scaled Score Worksheet.  For reverse-coded items, use the reverse-coded values.  Do not enter any values for missing responses; leave the line blank.  If the responses are missing for more than half the items in a scale, the score for that scale should not be calculated.  Missing values are not imputed.  Note that missing responses within a scale will change the number of points corresponding to a change of one answer category for one item for that respondent.
Step 5: Calculate the scaled scores

Calculate scores for the eight QOL-B domains using the formulas on the Scaled Score Worksheet.  Note that a total QOL-B score is not calculated.

Item-by-Item Worksheet
Numbers correspond to items on the QOL-B Version 3.1 questionnaire.  Fill in the values using the scoring rules described in steps 1 – 3.
1.   _____







34. _____

2.   _____







35. _____
3.   _____







36. _____
4.   _____







37. _____
5.*  _____=_____








6.   _____








7.   _____









8.*  _____=_____








9. _____









10. _____









11. _____









12.*_____=_____








13. _____









14.*_____=_____








15.*_____=_____








16. _____








17. _____

18. _____

19. _____
20.*_____=_____

21. _____

22. _____

23. _____

24.*_____=_____
25. _____

26. _____

27.*_____=_____
28. _____

29. _____

30. _____

31. _____

32.*_____=_____
33. _____

Scaled Scores Worksheet – Page 1 of 3

Enter the values from the Item-by-Item Worksheet.  Use the reverse-coded values, if applicable.  Do not enter any values for missing responses; leave the line blank.  Assess the number of missing values and calculate scores as described in Steps 4 and 5 (see page 2).
Physical Functioning Domain (5 items)

  1.  _____

  2.  _____

  3.  _____

  4.  _____

16.  _____

If 3 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses

Role Functioning Domain (5 items)

17.  _____

20.  _____

25.  _____

27.  _____

28.  _____

If 3 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses

Vitality Domain (3 items)

6.  _____

8.  _____

9.  _____

If 2 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses

Scaled Scores Worksheet – Page 2 of 3
Emotional Functioning Domain (4 items)

  7.  _____

10.  _____

11.  _____

23.  _____

If 3 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses

Social Functioning Domain (4 items)

18.  _____

19.  _____ (* “doesn’t apply” = Not scored)
22.  _____

26.  _____

If 3 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses

Treatment Burden Domain (3 items)

12.  _____

13.  _____

14.  _____

If 2 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses

Health Perceptions Domain (4 items)

  5.  _____

15.  _____

21.  _____

24.  _____

If 3 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses
Scaled Score Worksheet – Page 3 of 3
Respiratory Symptoms Domain (9 items)

29.  _____

30.  _____

31.  _____

32.  _____

33.  _____

34.  _____

35.  _____

36.  _____

37.  _____

If 5 or more responses are missing, do not score this domain.

Scaled score = [((


     )-1)/3] x 100 = 


      mean of responses

Note: No total score is calculated.

SAS and SPSS Programming Code for Scoring QOL-B V3.1
Note: To enter data, refer to Step 1: Item-by-item responses, and for decision rules regarding multiple responses or skipped questions, refer to Step 2: Scoring multiple responses or skipped questions (see page 1).
SAS Program Codes for Scoring the QOL-B 

/*This scoring program requires that the data be imported into a SAS table titled "QOLB" and that the variable names in the table match those listed below.*/
Data QOLB; set QOLB;

/* Rescaling Respiratory 32 */

if resp32=6 then resp32=.;

else if resp32=1 then resp32= 4;

else if resp32=2 then resp32= 3;

else if resp32=3 then resp32= 2;
else if resp32=4 then resp32= 1;
else if resp32=5 then resp32= 1;
/* Rescaling “doesn’t apply” Social 19 */

if social19=5 then social19=.;
/* Recoding Some Variables */

health5=5-health5;

vital8=5-vital8;

treat12=5-treat12;

treat14=5-treat14; 
health15=5-health15;

role20=5-role20; 
health24=5-health24;

role27=5-role27;

run; 

/* Calculating Scores */

Data QOLB; set QOLB; 

if nmiss (phys1, phys2, phys3, phys4, phys16) <= 2 then

physical = (mean (phys1, phys2, phys3, phys4, phys16)-1)/3*100;

if nmiss (role17, role20, role25, role27, role28) <= 2 then

role = (mean (role17, role20, role25, role27, role28)-1)/3*100;

if nmiss (vital6, vital8, vital9) <= 1 then

vitality = (mean (vital6, vital8, vital9)-1)/3*100;

if nmiss (emot7, emot10, emot11, emot23) <= 2 then

emotion = (mean (emot7, emot10, emot11, emot23)-1)/3*100;

if nmiss (social18, social19, social22, social26) <= 2 then

social = (mean (social18, social19, social22, social26)-1)/3*100;

if nmiss (treat12, treat13, treat14) <= 1 then

treat = (mean (treat12, treat13, treat14)-1)/3*100;

if nmiss (health5, health15, health21, health24) <= 2 then

health = (mean (health5, health15, health21, health24)-1)/3*100;

if nmiss (resp29, resp30, resp31, resp32, resp33, resp34, resp35, resp36, resp37) <= 4 then

respirat = (mean (resp29, resp30, resp31, resp32, resp33, resp34, resp35, resp36, resp37)-1)/3*100;

run;

SPSS Program Codes for Scoring the QOL-B Version 3.1 

Note: To enter data, refer to Step 1: Item-by-item responses, and for decision rules regarding multiple responses or skipped questions, refer to Step 2: Scoring multiple responses or skipped questions (see page 1).
*Recoding Some Items.

recode health5 vital8 treat12 treat14 health15 role20 health24 role27 (1=4) (2=3) (3=2) (4=1).
Execute. 

recode social19 (5=SYSMIS).
Execute. 

recode resp32 (1=4) (2=3) (3=2) (4=1) (5=1) (6=SYSMIS).

Execute. 

 *Calculating Scores.

compute physical = (mean.2 (phys1, phys2, phys3, phys4, phys16)-1)/3*100.

compute role = (mean.2 (role17, role20, role25, role27, role28)-1)/3*100.

compute vitality = (mean.1 (vital6, vital8, vital9)-1)/3*100.

compute emotion = (mean.2 (emot7, emot10, emot11, emot23)-1)/3*100.

compute social = (mean.2 (social18, social19, social22, social26)-1)/3*100.

compute treat = (mean.1 (treat12, treat13, treat14)-1)/3*100.

compute health = (mean.2 (health5, health15, health21, health24)-1)/3*100.

compute respirat = (mean.4 (resp29, resp30, resp31, resp32, resp33, resp34, resp35, resp36, resp37)-1)/3*100.

Execute. 

*Reverse-Coded Values


For items 5, 8, 12, 14, 15, 20, 24, 27:


Original Value = Reverse-Coded Value


1 = 4


2 = 3


3 = 2


4 = 1


For item 32: 


	Original Value = Reverse-Coded Value


1 = 4


2 = 3


3 = 2


4 = 1


6 = Not scored
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